Independent invariants to the special total affine transformation
of the vector fields up the order 9

The weight is the number of edges of all types. The structure are the numbers of
the moments of the individual orders in one term, e.g. structure: 4,2 means that each
term contains fourth moments of the second order and two moments of the third order.

1
o Imeans an edge
connecting the nodes 1 and 2. The connections of the edges and nodes of the second type
V1

2

The generating graph is given by the list of edges, e.g. the column

are labeled by a letter V, so, the column is an edge of the second type and

V1
V2

(oriented up) or oriented down) are edges of the third type.

1
V2 (
Invariants of the order 2

2 1 1 2 2 1
Zy = — (s 2 (u$)? + Aple) ) i 1y + 2050 155 115e) 1) — Aple) by (17)?2

1 2) (2 1) (2 1 2
4(M(11)) Néo)/iém) +4M11)N62)M(20)H§1) (Mém)) (M(zo))

weight=6
structure: 4
Generating graph:

1) 1 1 2
Zy = 2 e 3 iy — (S0 (i )? — 2050 (157 )P + 2018 1) Y i)

)
1 1 1 2 1 1 1 2
+ 21k 151 1 1) 2M§ )(/;Lé D2 — 20 (i) )26y + 20080 i) (i ?)?

2
1 2 1 1 2 1 2
2003y + 205020y 1Y — 26 1 e 15D+ (1852 ()

weight=6
structure: 4
Generating graph:

11 vy v2 2 3
2 V3 3 4 V4 4



Zy = (uS)usy) — (52 (ui)? — use (157 + 3 s (u)? — 3u

piy )2y
+M2)(,U02) — 3y (S 2y + 58 sy ()2 + 3(uly) 2 1y — A(ui))? (D)
()3 be + 52l 1Y) — (D)2 ()2 — Ap) iy s Y
— Y ()25 — 18 (g )2+ 205 ()

(1)( 1))2

weight=06
structure: 4
Generating graph:

1 1 V1 2 V2 V4
2 VvVd 3 3 4 4

Invariants of the order 3

2 2 1
Zy = il iy — 3pS sy + 3pi Sy — by )

weight=4
structure: 0,2
Generating graph:

N
o
O —
O —
NG



2) (2 1) (2 2 1) (2 NG 1) (2
Zs = —plo sy + s Gy + (us)? — 2u sy — sy i + i sy + (u
weight=4
structure: 0,2
Generating graph:
V1 1 11
2 V2 2 2

1) (2) (2 1) (1) (2 1 (2) (2 1 (1) (2
Zg = —M%);H(g%;ﬁ‘% - M(glo))/iglgiﬂg()g)) + M(Z{);ME%M% + M%?;M((%ME%;
+:U’§11 Mzg N§22 + Nlll :Uéll MO% - :U'gll M022 Nég - Nlll N(():ls Nzg
—M82)M§0)M§1) - M(()2),Ug1)/igl) + MéQ)Mgl)Mgo) =+ MéQ)Mg;Mgo)

weight=>5
structure: 2,1
Generating graph:

Vi1l 1
V2 2 V3

W =
w N



1) (2) (2 1 2 1 (1) (2 2) (2) (2
Zy = M(21)M§0)M(02) - :ugl)(ﬂ(ll))2 - #(20),“52)#(02) - Hgo)#é2)ﬂgo)

1 (2) (2 1) (1) (2 N (1) (1 2 2
i DR e
—2pu47 fa7 foy + 2047 fag a7 + (Mu )2M12 - (Mn )2,“03 + Moz Moo Mot
M (1) (2)
Ho2 K12 H2g
weight=5
structure: 2,1
Generating graph:
V1 1 1 1 2
2 V2 V3 3 3
1) (2) (2 1) (2) (2 1 (2) (2 1 2
Zs = —Mgo)/ig1)/i82) + Mél)/igo)ﬂ((m) - Mgo)ﬂéo)/ié:s) + 2#%1) (,ugl))Q

D (2) (2 1) (1) (2 D 1) (2 1) (2 (@
‘1“#(20)#51)#(12) + Hgo)#(n),u(()g) - #(20)H(()2)M(12) - 3N(12)M§0)M(11)

1) (2) (2 1 1) (2 @ (@ N 1 (2
g — il - s,
_2(5)11 2?#(122) - M1%1,§i0?1§i202)+ 3#111) M(o22) M221) + M(o12) Mgl(; M(o22) + g3 (t90 )
_H(()z Hgo Hor — 2M402 Hoy Hgl + N(()z 2581 Néo + Hoo Ngz Hag
(N2 (2)

(M02 ) 3o

weight=>5
structure: 2,1
Generating graph:

53

(]
N
[N
W =
w



= M30 /5)21(/;)03 27 M30(1§h%2) » 30 M112)M03(27 H30 /5)03(/11)12 »
S Gy )+
1191 o3 o1 + g fso fs — Mz (or ) — (kg )iy

Zo (1 @2 (2 (1)( (2))2+M(1) (1 () 1) (2)

weight=6
structure: 0,3
Generating graph:

vi1l 11 2 2
V2 2 V3 3 3 3

2 2 2) (2) (2 1), (2 1) (2 1, (1
Zip = _(M(g((l))))2g)(()3) ;)L 3Mgo)ﬂ(g)1)/i§2) _1/;&2)2()”(1(%)))2 + Q(If)go)ﬂ(()g;/ig; (:)Mg{); (l(g(());)2
Py 200l Gl s
+3 sy g Hos — Dy s Mot — DHLy Hao fig + 20y (o )? + 2(pry ) sy

1 1) (1) (2 1) (2), (2
—Q(ng))i” + #(12)H(()3)#:(30) + H(()s)/l:(so),ugl)
weight=6
structure: 0,3
Generating graph:

vi 11 2
1 V2 3 V3

w N
w N



Ziy = b s ST s — S sy sy — S i e iy
b A Sy 1S — 2050 15 Y 1)+ g (89) 2
5 1y s 1155 — 1S i (150 )2 + g s i ey
THEC S
—H11 Moo Mot M2 — Ha1 Ho1 Moo Ho3 — Mi1 Ma1 Hig Moz
MR e e e
T gl ~ e
—Ho2 20 H30 Hi2 T Moz M0 <M21 )2 = 209 fhor i1 o1
b 1050 18 ST+ o iy s s+ by S s )

— 1165 (1552155

weight="7
structure: 2,2
Generating graph:

Invariants of the order 4

1) (2 2) (2 1) (2 1) (2 e 2
a2 = Mgl)ff)(w)(z)_ Mgo)%) <_2>2M;2)ﬁé>1) Z)Mgo)ﬁg?) @)Mgo)ﬁé%l) ?52”(11%1
a3 foo — 2001 Mg + 2000 ps — Moz Hag T Moz M1 — Ho2 Moz
weight=4
structure: 1,0,1

(2)



Generating graph:

—_

V1

Zig = s 15 pos -+ st ko pos -+ s o poi + 3k iy
— s 11 15 — Bpsg e vy — Bpsy ase s — B i3 )
3y iy by — 5 sy — s i -+ 3k s 15
+3pui pise 1)+ Bk e 15 + 35 i s+ s i s
—3pun 157 pes — 3pa s sy’ — Bpi sy ) + gy 6 s
53 s 1)+ 10 ko 1o — Bptgn st 1)+ o s S
— i o ) — o s 151+ Byt psg 1S — Bpabe sy 153
@ 0 0 0

1) (2) (2 1) (1) (2
‘1“#83)#51)#510) - H(()z)#(w)ﬂgo) + 3oz pig a1 — Hog o3 Hao

weight=06
structure: 1,1,1
Generating graph:

Vi1l1111 V3
V2 2 2 2 3 3



1) (2) (2 1) (2 1) (1), (2 1) (1
Ziy = N:(so),u;o)ﬂgm)_Néo)ﬂ(n)ﬂg:s)‘i“ﬂz(so)ﬂg )Ném) N( )N( )H(l)

2 N (2 N (2 1
Méo)lﬂgozﬂéﬁ - 3#%3#%0)2#53) + 3#%8#%11#532 3#%1)#%22)#(()22)
+3H§1)N(11)H§2 3#&0 Ngz),ugz + 3#21 Ngzs)ﬂ(n) + N(zo),ué:s)ﬂz(sl)

+u§11)u§o)u§? 3y 051 g = )uéﬁ)ulég) 3013 s 1

=3y sy a8y — By i s 4 3ty sy — 35y i gy
1

3y 53 1Sy — Bpiy s by — iy G k) + i o )

2 1 1 2 1 2
_N(()3)Mz(10)/i82) + M(()2),Uz(10)/i(()3) =+ Mé3)/ig1)/i§1) 3#82)M§31)M§2)

1) (2) (2 1) (2 1) (2) (2 1 (1) (2
Hézs),ugo)#:(ﬂ) + 3#02)H§2)M(21) + Hézs)ﬂ(n)ﬂz(lo) ME)Q)ngs)M:(so)

weight=06
structure: 1,1,1
Generating graph:

< <
N =
w =
w =
w =
<
W N
w N

Zis = g i usy — 3uS) ui ul) — Sty )+ pse S sy
g 1S9 153 — 1) 150 1) — Buse 1Sy 1Sy + 3pusg by
—M“%Qué? + Bpasg iy st + Bl i ) + 3u§11)u§1)u§22)

D@0 @ e e e e g () ) )

_37%0 R R e T R R T e
— a1 31 Ho3 T a1 3o Hod T 3#11 Mo fhis — 3ji1y foy fys

iy D ) — 38y S S — 3l iy sy + 3ty s ey

D S sy — S Sy Sy — sy e s — s e

1 1 2 1 (1 1
+3M(()2)M§1)M§3) + Mé:s)/igl)/h(m) 3#82)M§2)M§2) + ,UéQ)M(()g)Mgl)

weight=6
structure: 1,1,1
Generating graph:

111 V2 2
333 3 V3

N —



Zng = =l 1l 52 + 201 7 15 + 208 1) 1) + b s o
— g i 153 — 24t b %) + b sy 1) — i sy
— a5 )+ b 153 1) — 2py i Y + 24150 i o5
— 153 52 150 + Hsn 103 150 — s 13 sy — 2008 o i
2005 sy 1) + 20153 s sy + gy 1y ) + A sy s
+2u§iu%ﬁu§? + 2u(1iu§1;u%%) 20080 133 1)) — 2p3 15 )

1) (2) (2
—4puyy g H22 ‘1‘2#11# H31 ‘1“#03)#510 H(()z +/~L( )H( )N(22)

1 2 1
—2p65 15 137 — e 115 )uéo) 2yt sy 1)) + 16 b3 1)

N1 (2 D (2) (2 D 1) (2 Do) (@
N(OZ)N(Ql)MgQ) + #(()2),1152)#510) + 2#82),“52)#&1) H(()2)/~Lé3)ﬂz(10)

weight=6
structure: 1,1,1
Generating graph:

< <
N
N
N =
W
W
w



Zir = ko g 15 + psg ako . + 2p5 5 i) — 2 i s
+21 16y 157 + s 1y 155 — 1 s 135 — 205y ) v
150 s s — e s s — Ayl 5y )+ Apaby T i)
—2pube) 153 13 + 2p50) ks 55— g s o — 2018 ) 1)
ko g 150 — ek g 18 — 2087 18y oty + 20055 ) a5y
152 e 1)+ A ) 3 + 20y by ) + 20055 Y e
—2pu i ) — 205 i sy — Ak s )+ ke ) )
20053 g sy’ + e ) s — 2 s 1k — o a5 )
16 152 180 — a6 1 153+ 206 153 1) — e ) )
weight=6

structure: 1,1,1

Generating graph:

weight=6
structure: 1,1,1

Generating graph:

< <
N —
N —
N
<
wW
W DN
W DN

A A+ A
e ?%“ ?2 O I
—Ha1 K20 N13 H2o N21 N13 + Mot Hoo Noz H2o H22 Ho3

s Sy s, — S Az 1Sy + s Y Sy + uéo)u%)uéa)
— a5y g5 Y+ S s s — e 5 s — u%)ugé)u(oli

by 152 1Sy s s 1 — Y e ) Y e '
—uﬁ?ué?#é? S s — e Sy S s 1)
AP s i)+ D ke — N(112):UJ§1)M(2)_N11),UJ( )15y
il e — Sy S+ ) ) — Y s )
+M02)H§%)M:(321) - MOQ):U’go Ngz + Mog)ﬂgll)ﬂ(ﬁ) - MOQ)N’:(SI Ngz
paby) S 158 — g 1S )+ sy S ) — i s 1)

Ome_mme o m, Wm0

o2 oo o1 — Moz o1 a2 — Moz H21 Hi3 + Moo iz Moo
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Vioo11 112
2 V2 2 V3 3 3
Zhg = ko sy 16s — ko i iy —ué%)ufm)ué? + Apiso ) 5y
=31k (b )? — Apy 153 i3 + Ay s o) + il sy
— gl s 155+ 615 ) i) + Bpsy () )? = 3(pg )i — iy
sy sy 153 — Ay sy 1) — 6515 ) gy + Apsy i sy
uﬁz)uéﬁui? - s ko e — Apat sy 15+ o e
+ 3N< (M22))
weight="7
structure: 0,1,2
Generating graph:
111 Ve 1 V22
222 3 V3 33
Zoo = pho sy 1) — w53 i — s 1S ) — 208 )
+3u§1)u§22)u§2) + Byt a3 + i iy 16 — 3 g 153
3y s psy) + B g s — i 1S3 — ) i a6
—3paiy 0 155 + 2032 1k 155 + 2015 ) ) + iy il
2415 s 1Sy + ps 1) ) + b e 155 + o i )
=3yl sy 15y — ot 1 ) + Bp s ) — ab s o

11

Hi2 — M2 M4o Mog



weight="7
structure: 0,1,2
Generating graph:

Vi1 1 11 2 2
V2 2 2 V3 3 3 3
1 2 2 1 2 2 1 1 2 1 2 2
Zn = _MEL?):U’%I)NE);}) + 2#320)11252)@(13) + ulf;o)uz(lg);gés) - Mlio)lgés)uz(zz)
—ui?)uéf)uig) + Méi)uz(s?)/ié;;) - M:(so)lﬂg1)2/ié4)2+ Méo)/ié;ﬂlg:s) )
_M(31)H§2)N(03) + Hgo)#(m),u((m) - 3#&1)#(12),“&2) - 2#&1)/~L(13)H§2)

1 1 2 1 2 2 1 1 2 1 1 2
—2u§o)u(13)u§3) + 2#@3#83#@3 + 3u§1)u84)u§1) + uéo)uéﬁu(m)

1k i 165 — 20 1S 13 + 2psy w8 sy — 208 sy )
435y 15 sy — 35 (152 + 320y + 3y ) 1y — 3y gl by
— g 1 ) — 2ptsg 1 ) — i i 1) — Bk s a3y

S e s+ i e iy + 38 Sy S — 208 D sy

1 1 2 1 2 2 1 2 1 1 2
—3u§12)u§22)u§§) + uif,)uﬁlz)uig) + 2(/1153))2/;@0) + 2#%’#55/@;
21165 150 155 — i 1k 13 — 201t (D) + 2t 1y )

) (1) (2
_M((JS):U’§2)M:(31)
weight="7
structure: 0,1,2
Generating graph:

)
O —
O
W =
W =
=
W N
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Invariants of the order 5

1 2 2 2 1 2 1 2) (2
Zoy = w4 pso sy — 3y iy — o + ke gy — 3u§1)u§2)( o

1 2 1 2 2
+3pu5 Sy + 35 Sy — 3y iy + 3u Y — sy — 36y

1 1 1
‘1“3#52),“23) - ME)B,)Néo) + Méz«z),uz(n) - Méz«z),u(z)

weight=5
structure: 0,1,0,1
Generating graph:

V1

—_
N
N

1) (2 ) (2 ) (2 1 2 1
o3 = ,Uéo)/i(()f)) - 5/@(11),“54) + 10#?32),“&3) - 10#%:3#?32) + 5#54)M( ) Mé5)ﬂéo)

weight=6
structure: 0,0,0,2
Generating graph:

< <
DN =
RO
N
DN =
N
N

2) (2 1) (2 2 1) (1 2
Zoy = _Méo)/i(m) + Néo)/iém) + 4#41),“53 4#41),“54) - Mil),u((m) 3(#5}2) + 6#32)N§3)

1 1 2
Al 1t — by sy — (g ) + il

13



weight=6
structure: 0,0,0,2
Generating graph:

2 2 2 2 2
Zos = g (uip)? — 4y i 1y + 2088 Sy 1) + 4ply) (i) — 4SSy

— 150 s k3 — ko s 1+ (pisg) ) e + 2pasg 147 15
24180 i sy — g 1 15— w6 185 — g e )
210 iy 15 + 201 s ) + s (1 )2 + 2008 g )
— gy i 1) — A ) + 2005 i s + 4(pi) 2y
+ 2 1ty ) — A4y i 15y — i 1 ) + 2016 s iy
—ué?ué?;(té)? 16 1153 ) + 2016 Y ) — g 163 eSS

+(uy) 2
weight=06
structure: 2,0,0,1
Generating graph:

—_
—_

< <
\]
N —
N —
<
w
W =
W =

14



Zog = =i piy 1y + psg ko) ) + 20 (17))? = (ko) 21153 — Bpass iy
50 i 153+ Bt 151 1y — s iy s+ g i sy

— s ) 152 + g 1 ) — 15 s 1S — ik ) 1150
ko) g 153 — ket 150 — 15 g 1)+ it (ko))

— iy s sy — 2057 )2y + gy ik ) + 228 — 2(uiy)
4y ) 180 - s g sy’ — Bs s wsy) -+ 3k g s
b i 16 — a6y 150+ g Y — e e 1S5
(1)) — (1)t

weight=6
structure: 2,0,0,1
Generating graph:

Vi 1

Tor = =g 1 53+ pi s ) + 2015 133 115y — 2005 s a3
— 150 p 15+ 1150 s 150 + s s i — 2018 g )
3 gy 33— Bpase 12 1y + 2008 e ) — b e )
a5 i 16 — 25 180 1) + 3y sy — Bpuiy s )

M12(1/;41(1/;03(2) %12) (33) 223) 1), (1) (2) 1), (2), (2)
20049 14 30 — iz Ho3 Néo — o3 Hat Hi2 T Hos 3o H32

(1) (2 1 (2 (2 (1) (2 (@2 (@
+2Mé3)/ig2)/i§1) - 2#83),“&1)/%(11) - ,Ué:s)/igg)ﬂgo) + Mé:s)/ig;/iéo)

weight="7
structure: 0,2,0,1
Generating graph:

—_
—_

W
W DN

= <
[\
N
N
<
w
W
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Moz — 3fdaz fog HiT
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(1 (2 (2) (n (2 (2)

2
Zog = Méo)/igl)/iéﬁ + pay oo os — Mag Mg fMos + 4p

1 (2) (2 (@) (@2 2) (2
‘1“#510)#51)#(14) 4#&2),“&0)#( )+ 4#31),“&0)#(14)
1) (2 1 2
—4/%(31)#521)#&3) =+ 6M1§3)M§0)M2§2) 6#%2)#§O)M§3)
+6M§2)M§1;M§(32) - M§1)1;511()2/)ié4()2)‘i‘ Mg1)/i( )M(()5)

2) (2
_4N11 N311 H14 4N114 Ha0 N231 + 4#?13),1‘220)%(32)
+6u§1 1 )uég) — i iy ) — 4ps gy
1), (2 (1), (1)

_4N11 /llf, H32 — H11 Hos H( ) + H( 1Mo41,u41
_4/i182 /gz(u)/ég) - Mlt()z)/é(o)ﬂgzl) =+ 6/?83/?3#53
‘1“#(()5)#&0)#5:0) - H(()4)/~L(20)Mz(11 4#(()2)/~L(23)Mz(>,1

1 2 1 1 (1
‘1“#(()4)#51)#&0) + H(()z)#§4)lh(10) + 4#82)1153)#511)

1)
)
1)
)

weight="7
structure: 1,0,1,1
Generating graph:

—_

< <
[N}
N —
N —
DO =
N
Lo =
w0
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1 (1) ()+u(1)u

Koz Mo4 M50



1) (2) (2 1) (2 1) (1), (2 1) (1
Zy = Mio)ﬂgo)ﬂég Nz(io)ﬂ(n)ﬂgzx)‘i“ﬂio)ﬂ( )Ném) Mz(lo)ﬂ(t’))ugl)

— 4 s 13 — Apsy ) + gy 1) + 4l i i
—pisg 15 165+ 411k 5 55 + Gy s 163 + 615 ae sy
67180 p 153 — 618y i 157 — 618 Y 115y + Apisg sy sy

— s p 18+ 5 i ) — Api s ) + i ey )

— s s )+ Aps sy iy — gl g i) — Ay e )

61 b 15+ 6125t 15y + Ayt i ) — sy i

— g0y 1) + sy 1) i) + 15 s S + o e )

— i) ko) sy — uéﬁufﬁ)u&) + 4ué2)uffl)u§3) 6116 1152 1157
M, @ 00 e )6 W) o)

T Hog Hog far 4#02 Ha3 K31 — Hog H11 M50 — Ho2 H14 M40
weight="7
structure: 1,0,1,1
Generating graph:

Vili111 22
V2 333 3 V3 3

1 2 1 2 2 1 2 2 1 1 2

Zso = =k iy i) + Al pi? ity — w1 ) + ke i iy

1 2 2 2 2
—4u1§,1)u2§3)u62) 612;(»,2)/2( 1)u2§2) + 4#;(»,1)#2( )/éég) + uéo)uilo)u(;
— a5 e i) — A Sy 1S + A Sy 1 + 653 s )

2 2 (@2 2 2
+ 6M§O)M§2)M§2) 6M§O)M§2)M§3) 4M§O)M(3)Mz(11) =+ 4#&?3#%1)#?31)

1 2 2 2 2 1 2 2
—6u§2)u(111)u§2 +4uzo)ul s +u1(20)u( )HQéo) uég)uéifuif
4u§§)u(l)uéz) + py i sy + u&)ul( )uléﬁ ; 4u§1)1u§2)2u§3)2
— sy iy i) + 6u11)u 9 1)+ Gy puly ) — ps i )

2 2 1 2 1 1
s iy 1y — Ay i) — 405 s s + Y e )

1 1 2 1 1
+Mg1)/ié4)/iz(11) =+ ,Ué4)/iéo)/i82) M(()2)M( )M(5) =+ 4#(()2),U§1)M§4)

1) (1 1) (2) (2 1) (1 1) (1
_6N82)N(22)H§3) Ng4),u§1)#éo) +4N02)H§3)N:(32) Héz)ﬂé4)ﬂz(11)

weight="7
structure: 1,0,1,1
Generating graph:

V1

1 V2 2
2 3

1 11
333 3 V3
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1) (2 2 1), (2
Zy = —Méo)/i%)ﬂ(()g) =+ 2#4(111)M§1)M(()23) =+ 3,“4(11) (Mg;) ,
_#30) Ngo),u(()s) 9#&2),“&1)#(12) + 2#30),“&1)#(14)
W @@ onm @, W@

— M32 M30 Ko3

— 30 H12 Hog — 2030 a2 Hia T+ 30 Hos Hog T 4M

1 2 1 2
+3Mg1)/igo)/i§4) + Mél)uf(ﬁ)ﬂ((%fﬂ) + 6#%33)(#(;%))(

1 1
_3H§11)N(23)H§22 3(,“;1 3 H14 + 3,“211 H12 N322
+9u§11)u§§)u( )~ i) )lu( )2u( ) — 4} )luég)luég)
54053 s sy’ — By s 1S5 + 64113 1y sy

1 1
6#52)M§3)M§1) 3#52),U(2)/h(11) +2M52)M§4)M:(30)

D (2 N a N (2
+5/~L12)M2(()3)/~L£11) + Mt()g)#é?),u(()g — 3#(()3 Mz(n),ugg
+u§3§u§,§;u§2§ + 3ué()13))u( )(ét)él) 2088 sy 1y —
+M03 g fso — (Hos ) so

weight="7
structure: 0,2,0,1
Generating graph:

N
N
N
N
N
W =
W
w
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2 1 (2) (2 1) (2 1) (2
g = N50)N(121)H(()4 + Néo)lﬂ( )N(13)2+ Hz(n()ﬁ;(zo();)l(()zx() )‘1“ 2#51()@@(11()21;53())
1
_,uz(lo),ugl),ugzl) 3/%(11),“(() )Mg2) + 4o Moz o3 — 3#32 Mo 13

1) (2 1) (2 1) (2 2) (2
+u§11)u(2?)u§4 + 2u§1)u1(11)u§3 + 3;(11%2)%2);(1%1 — 3;:%1 ;éé)z)ﬁ(t%ﬁ
Méo)/i§2)1/i( )2 Méo)/i(1)/i1(()5) ;‘ 3pog /i120 /222 - 3#22 ﬁ) ,ﬁ%g o)
+3M20)H§3)M(13) + 3#20),“( )M(14) 2#&3)M( )H:(n 3o Hig Hos

1 2 1 2 1
—=3pabe 33 155 — gl 16 ) + Bpss 1 ) + pibe e 17

1 2 1 1
+M§0)M$1)Mg2) =+ ,U§1)Mz(11)/ié4) + Mgl)/iz(lo)ﬂ(()g 2#58#&2)#&3)

1 1 2 1 2) (2 2) (2 1 2 2
— 20053 i ) — ki) ) sy’ + B s 185+ ) sy e

1 1 1 1 2
— 2 i )+ 20y 1k ) + 20057 i 1) — sy ) G

2 1 1 1 2
s iSe) — u S ) — S ) — Sy

1 1 1 2
3ty pg 15 + 3p16e i s — pnd s ) — B i s

N 1 (2 D (1) (2 @
—3H(()2)#(22)H§32) + H(()4)#(11)Hé0) + FL(OQ):U’§4)FL£10) + H(()2)#(13)Hz(11)

weight="7
structure: 1,0,1,1
Generating graph:

Vi111 112
V2222 V333
Zsy = s i pse) — Bpsg iy s + 2use g ) — ke i g
k) ) )+ 64 o ) — 6py G ) + 20 16 i
21150 g 1 — 8y sy 155 — 61156 15 + 6y s sy
0,20 om0 6 o000, 0 00

+6130 Moéfs Har — 2030 Ho5 M3z — 3#21)#41)#&5) + 6M%1)M32),U( B
1

+8H§3)/~L(211)H§;2 - 6,111&3 H() ),1(12%1 - ((5#)6 (11)‘( (F)L32 - %ﬁ)bzz«z@l)‘é:s( F)L50

+3M§1)Mé5)lh(n) =+ M§2)Méo Hos T Mg Hat Hig 2,U14 30 32

1) (2) (2
_8N12)N32)H§3 N§4N 1),“511 +8N12)N23)N§;2 ‘1“3#54)#(12),“&))

2 1 1 1 (1
M§2)M§4)/h(11) M§2),Ué5)/iéo) M(()g)/iéo)ﬂgzl) +2Mé3)/iz(n)/i§3)

D (2 (2 ) (2 1 (a D (1) (2
‘1“/1(()5)#:(’,0)#511) H(()5)M(21)Héo) 2#(()3)M(23)H511) +M(()3)H§4)Mgo)

weight=8
structure: 0,1,0,2
Generating graph:
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Invariants of the order 6

(1,2 2,2

1) (2 1) (2 ) a 2) (2
L3y = s M(1J4 o a0 M241 - 24M£12)H531) +( 1/;38#55)(2)_ /é%o)ﬂéfa) (41” )41(12%1)%(33) o @
+6M:(33)M§2) - 4#531)#%4) + 4#:(31),“15 — Oty fryy — 4ping prsy’ + Opigg piss

1) (1 2) (2 1) (2 1 (2 ) @ 2) (2
—6155 15 + 4#53)M(51) + M§5)M£10) - 4M(13)M£12) + 4,U(13)M§33) - ,U(04)Né‘0)
L, @ _ 1 1)
thHog 51 — Hog a2
weight=06
structure: 0,0,1,0,1
Generating graph:

Vi 1
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Z35

weight="7

1) (2 1) (2 2) (2 1) (2
Héo)NéQ)N(():s) Q,Uél)ﬂ(n),u(():s - 3#51),“(()2)#(12) + Hz(iz)ﬂ(zo),u(():s)

1 2 1 2 2 1 2
+6u512)u§1)u§2) + 3#1(12),“(()2)#%1) 3#?3?3#%0)#52) =+ Mgo)ﬂéo)/i§5)

1 2 2 1 2 1 2) (2 1 2 2
=618 137 sy’ — 2t 5 ) — w1 )+ s G sy

1) (1 1 1) (2
,Uéo) M§3)M(()3) - Méo)/i(o)ﬂ(()ta) + 3#52#5 )M§1) — 391 Moo fog

b (1) (2) (2) (2

+34180 s 153 + B34S by 12 + 208 1D ) + 615 1D i
—=3pabe i3 15y — 3y s 153 — 315y s 15y + pe s 1)
ko ) 153+ 2080 s g — Gpsy a5 + 2005 pi a5
— 155 i) s + Bpse ke s + Gpy ase) ) — 68 pasy) )
=6y 1 1) — 20050 3 i) + 65153 i s+ 3psy gy sy

) (1) (2 N 1) (2 1) (2 1) (2
_Qlllgl)ﬂlg:«z)ﬂz(;z) - NE)Q)MQ( )Ng:«z) + 3#02){“512)N(12) 3#02)111;3)N( )
Mé{f;goll)igzé) N(()3)M§0) M%u) "; M(()2) ﬁ%ﬁ M;)so) (;'; 3#(()2)1/)i§1()1/)i§33) :
+2/403 Mgl 51 3#02 Nm Hz(u Ho3 H(()2 Heo + H(()2 Ho3 Hél

structure: 1,1,0,0,1
Generating graph:

Vil1l1o1 11
V2 2 22 V333
péo 12 s — 24151 a2 pay — Bpsy e ) + a1y

2) (2 2) (2 1 1) (1) (2

+6M42)M§1)M(12) + 3#42),“(()2)#(21) 3#&3)N(20)H§2) + #(30)H§4)M(02)
1 2 1

—6,“5;3)#51)#&1) - 2#5}0)#55)#51) M:(33)M(2)M:(30) + Ngo)ﬂ(()(s)ﬂgo)

2 1 1 1 (2
+M§0)M§0)Mg5) — 3#&3#&3)#(()2) - Méo)/i(o)ﬂ(()ﬁ) + 3#%2#%0)#&1)

1 2 1 1 1 2
—3u(l)u(21)u§4 + Gpisy 15 13+ Bpabe i s + 2u1§4)u(11)u2§o)
3k 32 153 — 3pabn 33 s — s 12 sy — p s 1y

1) (1 1) (1) (2 1) (2 1) (2
‘f’Hgo)Né:«;)Ng:s ‘1“3#52)#512)#62) 2#51),“;0)#;4 6#12),“;3)#(11)

1 2 2 2
+2u§1)u§o)u§5) 58 o 50+ Y 1w + By s i)

1 1 1 1 1
—6pa1 pisy 183 — 6428 3 1) + 61053 i s+ 2005 G Y

1 2 1 2 2
~2 g 15 — ot Sy o) + 27() );(12() )ﬁ(b() - g 1S 15

N (1 1 1
M(()3)M:(),3)Néo) M(()2)M(0)N§4) 3#02 Mot Hag + 3#(()2)M§1)M:(’,3)

2) (2 1 (2) (2 1) (1
+3M02)N§2)M551) 3#02)M12)H512) M((JQ):U’E):S)MéO) + Héz)ﬂg ):U’él
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weight="7
structure: 1,1,0,0,1
Generating graph:

53

(NI
N
w
W =
W =

1 2 2 2 2
Ly = Mc(ao)ﬂ(()2)ﬂé3) Mél)/i§1)ﬂ(()3) —3Mé1)/i(2)/ig2) +3M512)M§1)Mg2)

1 2 2 1 1) (2) (2
‘1“3#512)#82)#51) + N:(so),u(o)#(w) + Néo)ﬂ(m),u(()z 3#5«;3)/40(11)1151)

— e sy — uéo)u%)uﬁl) 1Sy 1183 1Se) — e e 1Sy

+u(zb)u(2)u(12) By 1S ) — o 130 1oa + s 157 15
3/~L )#20 H24 3#20)H(1)/~L(2%1) + 3#21),“51)#(121) + 3#20),“51)#(15)

3y 13 1)+ S 1 Sy + 38 S )+ 3l )

3y 33 15+ psg 1l sy’ — ) s 1 -+ g o H

1 1 2 1 2
+3Mg2)/iz(12)ﬂ(()2) =+ Mgl)/i( )Mé:s) + M(l)ﬂ( )Mgg) ,U§1)Mgo)/ig4)

1 1) (2 nom (@ noWa
—3N(12)N33)H§1 — 3#11),“( )M(m) + H(l)M( )H(5) + #( )H( )H(6)

2 2 2 2
=B sy 1))+ By s s+ 3y b ) + Busy s )

)@
1 1 1 1 2
=353 ; : iuéﬁ Byan psr iy + 35 s sy — 3pase) i )

25
1) (1 1) (1
_3N11 N12 :U'z(12 _Ngl)ﬂ(gﬂéo ‘1“3#11)#1 )Hg:s ‘1“3#51)#(12)#&4)

D &)+ S ) — sy ) — Y s by

1) (1) (2 1) (1) (2 1 (1) (2 1) (2
H(()s)ﬂél)/l((n) - H(()z)#él),u(()s) + /4083)%(12)#(11) + 3#02),“512)#( )

1 (1 1 1 2 1
3#82)M§3)M( ) Mt()z)ﬂ( )Mgsg - Mé:s)/i(o)/h(m) + M(()2),Ug4)/i:(30)

2 1 ) (1
315 sy 1Sy + s T Y — gty 1S 1S5+ b i 155
weight="7
structure: 1,1,0,0,1
Generating graph:

<

(NI
[N
w
W =
W =
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Zas = o sy iy — 208 1D 1y — 2080 1y 1)+ ) S 1y
) Y 1)+ S 1 1) — 205 1) )+ e ) 1
255 15 Sy — 208 1 S+ S 1 1y — e ke
pabe) e 12— 1S S s — e S 1 — e S et
208 i 1)+ 18 e 1Sy — 28 S 1) — 2050 1y Sy
M Ok N T

8 N A

— oo Hi5 Moy — Moo 12 Hog — 2Hs0 12 H15 — 291 o2 fas

pabe) s 1)+ 2085 18 1) 208 1 )+ 20 e 1

205y 10 150 — Al Y — 4 Sy )+ 20 ) 1

a4 S )+ i e i)+ A S i)+ 20yl 1)

208 15 18 — 4pV S ) — 208 i )+ 20 Y Y

W @ @ O W@, m 0 0

1) @) (2
=204y f97 fgg — 2#%1),“52)/%(12) + 2090 pig g3 + Ay o Hog
(1) (2) (2) (1) (1) (1) (1) (1) (2) (1) (1) (2)

g fog s — 20097 Hos f33 — Hos Ms1 o2 — Moz 51 o3
21003 18 Y + 2010l 153 — 1 s 15+ e 1) 15
— 05 53 10 — 0 153 15y — o 0 153 + 2016 sy 1S
20y i) 1)+ 20y 1) 1S3+ S Y iy — ) S )

g 143 15 — o 143 1055 — 20169 185 k) + i by )
weight="7
structure: 1,1,0,0,1
Generating graph:

V1

—_
—_
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2) (2 1) (2 1) (2) (2 2) (2
Z3g = :U’((SO):U’gl)uéﬁ) + Hél)ﬂ(o)ﬂé; + Néo),u( )Ng(a) + 5#51),“51)#(14)

2 1 2 2 1 2
— g iy pys) — Bpse e ) — By use iz — 10415y i sy

1) (2 2) (2 2) (2 2
+ 5Nz<11)ﬂ(11),u§4 + 10#33)H§0)N(23) + 10#5«;2 Ngo)ﬂ(m) + 10#33)%1)#;2)

2 1 2 1 2 1 2
— 10 157 s — 10413 abe ) — 10u§)u(o)u§3) 5t sy iy

100, @ 2 @ @) e ) ) e)

()3 ,l(jil) 7%2 1, (1) OEE) M?P)M?G) (2) (UM(M) (2)
+ouy iy g — 1001y g — 10pngig i+ Siis o
+5#14 oo pag + 10y pog prsy + 10#1 Moz f33 + 15 [i1 M50

1) (2 1) (2 1) (1) (2
_5%14)%1)#2; - 5#111#553#33 - 5#11)1,1154)N£12) +1H(1)1Ng6)2ﬂé0)
+M§1)M(()5)M( ) + M(()2)M¢(50)N(()5) - 5#(()2)M( )Mg4) =+ M( )Méo)/i§5)

1) (2 1) (2 1) (2
+ 10#02)H512)N(23) 5#02)N41)H§4 10#02)11;3)#:(32) + 10#6 Néz)ﬁ‘:(s:«;)

2 2 1 1
N(()ta)/iéo)/igo) M(()5),U(0)Mé1) +5M(()2)M§4)Mz(11) 10#(()2)M§3)Mz(12)

D (2) (2 D D (1 o1 (@
‘1“#(()5)#51)#«(50) H(()2)N(15)Héo +5H(()2)N(14)Mé1) #(()Q)H(()5)M¢(50)

weight=8
structure: 1,0,0,1,1
Generating graph:

viili11111 V3
V2 2 2 2 2 2 3 3

Zuo = psg oty — o iy i3 + e 1t g — e g pi)

2) (2 2
5#41)H§0)N(15) 5#41)N24)N(()2 +5N41)N11)N§4 "’5#41)#15),“( )

1 1 1 2 1 2 2
+ 104155 i 1y + 1085 a5 5 — 1018 s i) — 10pa8) i sy

— 1) 153 )+ 5l D D) — 1008y ) sy — 105 1Sy 157
F10p58 s 1ty — 10085 pse) Sy + 10u§3u§3)u§,? + 108y 1 )

—5p150 My 15+ pse G ps1) Y 0 15 + 5y )u(”u(o?

i S s — 5 ) s — 5 sy D+ sl )
+10u§11)u§22)u§3) 10p2x s 155 + B33 s i) — 105 s a3

1) (2 1) (2
‘1‘10#11)#24),“( 5#54)N(11)Né1 ‘|‘5H51 Ng4),ué1 5#11),“55)#511)

2 1 2 1 1 2
—Mg%)/iéf)ﬂéo) + M§1)1M(()6)1Mé0) M(()5)M(0)N(()12) +2M(()2)Méo)/ié5) oo
‘1“#85)#551),“51 - 5#82)Né1)ﬂg4 + 10#02)H512)N(23) 10#82 N§3)N:(32)

2 1 1 2 1
M65)M§0)Mé1) =+ 5#62)M§4)Mz(11) =+ M((J5)M§1)Mf(ao) Méz)/i§5)/iéo)

24



weight=8
structure: 1,0,0,1,1
Generating graph:

N
N
w =
w =
W
w
W
3 o
w N

1 2 0 (2) (2 1 2 1 (2
Zu = WA — AT DD D
5#41 Hg4 Hoz + 10,“512 581 Ngs + 5Hz(11 2551 Hg4 + 10#32),“5:3 MOQ)

2 1 2 2 2
— 10 15 ) — 10psg) 5 ) + a5 — i e e

2) (2 2) (2
_5M20)Mz(11)/i(24) + 5#20),%(11)#(15) 10#53 Hz(iz),u(()z + 10#20)M32)Hg3)

2 2) (2 1 2 2 2
— 107 15 ) — 10psg a5 ) + 10psg s ) + Sy 53 s

1) (2 2 D @ (@ 2 (@) (2
+5M§4)/~L(11)M4(11 +10/~023)/~L11)M4(12) 5#50)#(14),“4(12) FL(QO)M(()S)FL(GO)

1150 5 151+ S by ) — i sy g+ sy k) e
5 g 15 — Sy i s — 1008 g )+ 1007 sy )
1005 g py) — 1045 b i) — s iy ) — Bpasid sy
=505 3 sy + Byt i ) + i e ) — iy et sy

1 1 1 1 1 1 1 1 1 1
Mé5)uéo)ﬂéz) u( )Méo)ué6) +5u82)ﬂfu)u§5) 10M( )u( D sy

+10pg 15 ) + b T b — Syt ke + o o )
weight=8
structure: 1,0,0,1,1
Generating graph:

1 v2 2
3 3 V3

[\]
W =
W
W
W

25



1 2 2 1 2 2 2 2 1 2
Zin = —pui pio nby + 2080 Sy ) + 4ty ;:ugZ)ﬁL(B) 4 153 157

4o s s — S by s — 2ue 1Sy s — Gl it )
ko i s + Apss o s — Apsy 1S a3 + 12058 b )
81 15y 1 + Ay 1y sy — sy 3 1)+ uéﬁ)u( 2 16
L@ )@ @) o @ 6r ) ©)

(1,1;40(1) 06( 2) Zt )30( /522( 2) e 7)0 /(é§4 (2) 4M21 /(i)?’ 5%3 (2)
41 3y a5 — 8#24 Mo1' 31 — 12#22 Har p33 + 6#21 o4 [22
1 ) 1 (2 1), (2, (2 1, 1) (2)

6#21 Hog Hoa — Hag Hig flag + 6#5?#52)/%(122) Apig1 115 31
Ay s 1S + psy e i) — b e 1) — 2008 g )
+8ui sy iy + 2u§12)uf$)u§5) + Aty s 1) — Ay e )
— 12705 pg 15y — 832 ) )+ 20055 ) ) + By sy 1)
8101 s 1)) + 12405 g 155 — Ay i Y — 20053 i i
— 8yt 11y 1) + 203 1l sy + o e s — Apa i a5
a0 s 155 — 4 1k 5 — 16 s 1o -+ o 150 H

1 1 1 2
—dpag s 1)) + A 1S s — 20160 5 1Y + g i g

1) (2) (2 1) (2 1) 1) (2
_6Hé3)ﬂ(22),uz<12 + NE)4)H§2)N£50) + 4#03)1153)#551) Né3)ﬂé4),ut(30)

weight=8
structure: 0,1,1,0,1
Generating graph:

—_

N
[\]

N =
N —
[N
O —
W =
W =
w
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1

Zyg = Nio)ﬂao Hoe
+2,u
+4p
—8u
e
H30H04 42
+6u
12,u

+6u1

1
+M§1)M06 M40

3 N42 H12

13 M33 M§1)

8#1
+4,u
+8u

ng),um Heo —

4u
_4N0

weight=8
structure: 0,1,1,0,1
Generating graph:

30 M31 H15

— 2
40 M15 Mg2) — Map Hoe Ma1 —
1 (1)
31 M33 Ho3
ey

+4u
— 4pzy

(1)

(1)

(2 (2
40(!11)21 K15 — o Hog N03

,u()

(2)
(2)
2)

1 2 2
+2u( )u< ’u()

22 M30 ,U§4)

(2

22 H12 N42

12 N24 H31

,u()

2
3 N33 :U’gl)

N
)

)

29 Ma1 M33

—_

81t
+ 12u
— 8u
—l— 4
+ 8
12p
Ap

HE)4)N60 Ho3

,u()

gl)/i

(2)

(2

(2

(1)

(2)
(2

b2

M§4)

)

(1)212M 2 M33
21 N(13)N42
1)

52 Hao U3
1)
12 M33 M22
1) (2
13 M12 M51
1)

(

(2)
( )
(2)

+p

)

04 Ma2 Ho1

24

w

(1)

w

W =

27

04 Nél)ﬂél)

W =

Mgo)/i Ho 6
1), (2
31 H21 H24
1)
30 M13

+ 8

+ 4u
M2 )N
1)
22 H33 M12
1)
22(11;24(2/;21
M5 K31

+12p
6u

4#?21
QM( ),u( )M

—4p
+ 8u

+4p
1
(()3),“

1)
Moz 42
(1 (1)

+ o3 Hog N4o

W DN

(n @)
(2)

(1)

W N

1)

(2)

(2)
1 (1

)H()+H( )M( ),u

(1)

2) (2
13 Ngo)ﬂz(sa)

53),”21 M42

12 Mgg),um

()u”+2u
(m
,u

(2)

W N



1) (2 1 (2 1 (2 (2
Zi = Héo)NéQ)Ngzx) + 2Né1)ﬂ(11)ﬂg4 + 4#51)%2),“53) - NELQ)Hgo)N(M)

1 2 1) (2 1
+ ,uz(ll):uézl),uéQ) - 8#1(12)M§1)M§3) 2#4(11)M§5)M51) - 6#4(12),“(()2)#?32)

1 (1) (2 1) (1) (2
+N£11):U’§)6)N(20) 4#32)%3)#82 +4N33)N20)N§3 + 8#5«;2)#(24),“51)

1 2 1 2 1 2
120155 137 115y — Al s ) + A G s + pe 15 e

1 2 2 1 2 1 1 1 2
—apalt) 1§D )+ 68y Sy ) — 1S 1Y e+ G 1l sy

1 2 1 2
— 1253 s 137+ Ay b 153 — O s 1) — Apabe s 1S3

1 1 2 1 2 2
1t s b — 61k s 157 — 8p1bi) Y sy + pi i3 )

1 1 2 1 2 2 1 1 2 1 2 2
+4M§?)M(14)H§:23) - u§4)1u82)uéo)2— N(zo)lié;#g@) . 2#51);%0)#( ) )

—4u§4)1/;§1()2/;82)2;r 8u§1)1/;5u)1/;§4) + 8u§4)/)ii2)1/)1§1()2;r 2u§1)ﬁ)til)2/;( ()2)
120 s 1) — A4pS sy e — 8y Sy Sy Aut S

2 1 1 2 2
+804 11 1) + 124050 e 1S5+ 208 iy )uéo) 2#51)/44)#@1)

N (2 (@ o 1
_8#(13,“54)#512) + 2#11)11(()5)#;1) + Ht()s)#t(ao)ﬂ((m) + M((m)ﬂéo)ﬂézl)

2 1 2 1 1 2
— 24105 :U’él)/lgli 4#(()2),“( )N:(s:«z) + H65)N(2)N§0) N(()Q)Nz(l )N§4)

2 2 2
+6u62)u§2)u512 + gt g 153 — a1 1Sy — Ayt 153 sy

1) (2 1) (1) (2
_6N )ngs N42) + Néz)ﬂ(m),u((ao + 4#02)%4),“;1 NE)Q)H&S)NéO)

weight=8
structure: 1,0,0,1,1
Generating graph:

—_

< <
[\]
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W =
W
wW =
W =
w
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1 2 1 2 2 1 2 2 1 2
Zis = —pio by i + e o e + 208y 3 — 280 i Y

1 2 2 1 2 D (@2
+4Mé11)ﬂ(()22)/i§3) + Méo)MéQ)Mgzl) ,Uz(m)/iléo)/é&) - 4#1(11)/?0)/2&5) )
_8H512)M(11)H§3 + 8#41)M11)H§4 - 6,“512)%2)#;2 4,11511)/182)#5,3)

1 2 1 2 2 2
Ay 5o 15 + Gpsg b sy + 1253 i ) — 12008 iy )

2 2 1 2 1 1 1 1 2
+4M33)M(()12)M£11) + GM%)MB%}ME@) + o) )2“(()5) M(QO)NEH)MQ(()G)
—dpute) s 13+ Apsg s s — 61180 ) 1) — A a8 )

1 2 1 1
+6u§?)u§i3u§3) — Gy 11 )uééf 8u1(4)u; )u;u) + S/ﬁég)/é )u}?
—4u§o)ul(15)u§2 +4luzo)u1 )2u§3) /i1(24)l‘182)ﬁ‘§50) —4u1(23)uléz)u()
a0 @ e g )W) e g )u( )u(’

20 Mo 41 — Moo MHos Ha2 14

1) (2 0 (1) (2 1) (2 2
PR ~ L2 s Sl + il
+M141,U202M42 =+ 8#11 1,U24 M3y + 12017 pog pss + 2,U115 M211 M250
—2M§4)M(11)Mé1) 2#51)/1(5),“4(11 8#51# )Hz(m) +M(14)H(()2)M¢(50)

1 2 1 1
28 16 1)+t o 1, — Apt) 1 152 + 6116 g 1)

1 1 1 2 1 2 1 2 2
— 16y py )ME ) — Ay i ) + 4u82)u(2)u§3) — e 1o 1)

)
1 1 2
sy s 1Y) — 608 15y 13 + Aply gl S — 1Sy s )

weight=8
structure: 1,0,0,1,1
Generating graph:
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O —
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W N
W N
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2) (2 2) (2 2) (2 1) (2
Zyg = Héo)lﬂt()3)2ﬂ(13) + 3#51)1,1152)N(13)2+ 3#51),“(()3)#(22) - 3!‘1512)N(21)H§3)
9#1(12)M§2)M§22) 3Mf(12)/i1(3)/i2§1) + Mlgo)/il(o)/é(()ta) + /ig:s)/igg)ﬂgg)
3#30)%1)#55) - Hgl)#:(s:«;)ﬂézs) - #go)ﬂgl)ﬂé6) + 9#33)H§1)M( )

2 1 1 2
+3u§o)u2§ )12(4) + Bpsy b ) + 3u1§, sy 33+ 9#:(»,3)59#5,1)
Hz(’,o)ﬂg?))ﬂg?,) 3 31)M1 )H§1 3#:(’,0)M(13)H( )+ MZ(’)?,)M(()?))MEIO)

1 2 1 2 1
1151 66 150+ 150 Hod 153 — B e 1k -+ 3y iy 16y

316 i 15 + Opisy 1S sy — 9u§12)u§,3)u§22) + Bptyy i e
Oy 157 1) — O 1) 1S5+ Ops) 1) ) — Ol ) i)
316 3 sy + By iy ) — 3u§§)u§5)u§%) + Optsy sy psy
= 3pasy) g ) — By sy 1 + 3y k) s + Oy ) )
+3puss s 11 — Oy psy 1S — Ok pss s — 3k iy )
+3pui sy )+ 9k sy 1y + 3pasy) i o) + 9psy e
=3y 3 €y — 9paky s s + 35 i sy + i e g
=316 sy 15— p o s + 3u814)ufé)u§1) — o, H50 ko
316 157 ) — s s 150 + G sy 153 — By 15 s
=3yl g 183+ w153 ) + B s 1)) — b o e

weight=8
structure: 0,1,1,0,1
Generating graph:

55

)
N —
N —
N =
W
W
W
w

1 2 1 2 1 2 1 2
Zyg = Méo)ﬂgl)ﬂé(s) - ,Uf(ao)/it()G)MgQ) - 6#&1),“;1)555)2"‘ 62/ié1)/i§5)/i§2)2 ,
150l sy sy — 15u4g)u DSy — 3 o ule + 64 )u< )u( :

D (2) (2) (1)

— 1585 psy 15y + 10488 (uS)? + 10(uy )23 — 2005 Sy 1) + 1 ) i

1 2 2 2 1 2
6u1§1)u1é1)u§5) + 151u§1)1ufm)u§4) 1083 (13 ) + 15u§4)/i§1)/éfu)
ng)lﬂéo)ﬂé%"‘ 6#8#&9#55 , 15#12)1M42)H§42+ 20#52 Mlgzs)/i:(s:a)
6u1§5)u1§1)u§1) 1?1#%2)1#54() iy + 6u§2)p(t1§ ),Ult(’)l) u%’uéﬁ)géo)

+M(()3)M£30)M06) - 6#03)M§>1)M15 + 15#03),“42)#(24) - 10,uo:s (M33))
1, (2 (2
T o6 21" Heo

30



weight=9
structure: 0,1,0,0,2
Generating graph:

Vi 1 V2 2
3 V3 3 3

DN
DN
N
N
DN

Invariants of the order 7

(2 (1 (2) (1)

1 2
Zig = Mt(a1)ﬂ(()5) + Méo)/ié : ?/%2 Hig — Hso Hig 4‘(#50 Ho7 — 5#311 ,éi b @

1) (1
+10M43)M2§) + 5#4 )H252_ 5%(11)1#(16) + 10#321,“5132_ 10/~L34 H321_ 10#322 H3gq
10855 15y — 10053 153 + Sy i) + 1008 1) — 10085 ) + 53 a6y

1 2 1 1 2 2 1 2 1 1
—uﬁe)uéo) - 5#14)ué2 + 5#52#33 - u65)u(70) + U(()E))Nél) — ués))uéa)

(2) (2)

weight="7
structure: 0,0,0,1,0,1
Generating graph:

(NI
(NI
N

11
1 V2 2 2

g

1 1 2 1 2 1 1 2 2
Zig = wiony — e uie + 206y i) — 35p5sl i) + 35u5 iy — 21085 )

1) (@ (2
‘1“7#16)#«(51) - H((W)M(m)

weight=8
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structure: 0,0,0,0,0,2
Generating graph:

< <
N
N =
RO
RO
DN =
N
N
N

—

2) (2 1) (2 2) (2 1) (2 1) (1 2) (2
Zso = —ugo)ﬁ%e,) 5 uéo)ué{ _}(_1)611’&1)/1(25)(2; 6ué1)u(16()1)— géfué? —11511%2)#5,4) o
1
+157155 fo5 + 6pisg fiig + 10(pgs ) — 20143 Mg4) - 15#53)/%5) + 15#?34)%(13) + 10(#?&4))2
6 1 (2 1 (2
Has fsy + Mg Mt

weight=8
structure: 0,0,0,0,0,2
Generating graph:

\V]

S

N —
DN
DN
N
N
DN =
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Zsi = ) (p2)? — Al iy 1y + 2l S ) + pss) (1372 — A uly) iy

—2pb) 130 167 — (1150 2153 + psg) (150 )2 + 2t e pse) + Apt i) i)
— () )i + (i) 2paty) + ApaS pi? 1) — Al 153 ) — 2008 i) a5

Al 153 5z — Aptsg ) 1S — 20 ey s + QM%)uéz)ui?
—2pui) 16 57 + QMQB)M(”M(” + gy s gy — 8l s i
— g5y g 1S5+ Ay i sy — AC?)2 ) + 8k i ) — Ay )i
Ay Puass) + A0 ) ) — Apsy 1o sy + Aty i 1y
g ) i) — 2pa) ) ) + Apaly s i) — 2 185 )
+25) s 153 — A 157 15y — (p )21 + 2016 1) 1) — ()28
(10215

weight="7

structure: 2,0,0,0,0,1

Generating graph:

Vi1 1

2 1 2 2 2 2
Zso = pbg (uig)? — 66y 153 1y + 608y 1S ) + 9ply) (i) — 28y e )

—18ui§)u§fu§? + 6u§14)u(o)u§22) u;(»,o)u@)u§6) + 0 153 163

(o) V2pay + Ops ()2 + Bl sy s — Bpsse a1 — 6y i e
3u§o)u§22)u§4) + 3u§9u§”u§1’ o+ Gptsg 115 s + ko s 15
/JL:(S%))/JL((J?M%) - 2#:(3%))116:13)#:(3%1) 3#21)1151:13)#%) 6#25)#30)H§21)

1 2 1 2 2 1
+3u§1)u§o)u§5)+9u§1)u§4)u§2) O 15y 153 — Opiy e 157

2 2) (2 1 2 1 2
(s 2 piss + Opus 53 1)+ 3 s ps) — 185 1y i)

—3uy) by 1y + 6y s )+ 3l sy s — Oy s iy
e (5o — 3y e 15?4+ 9ty sy ) + 9y 1Sy )
=30y il ) — 9y 1 &) + 9y 2y + 3y Sy Y
=621 pg 165 — g 1w + B 16y s — B sy )
by sy 1)+ Sy S sy — 3 Sy 1y + 3y iy gy

1 2 1 2
— b8 1 1)) + ()2 usy

33



weight=8
structure: 0,2,0,0,0,1
Generating graph:

Vi111 1111
V2 2 2 2 V3 3 3 3
Zsy = =gy pnz g + 2018 ) s + 3psy) (153)? — s o)

2 2 2 1 2 2
—Ops sy 1y — (uéo))%ﬁ + 4u§4)1u§o)2u( 2+ i s 135,
51280 157 s + G ()2 — 2 st 1ss — pi) s 11

1 2 1 2 1 2
—M:())O)M§1)M§6) + Mgo)/i§1)ﬂ(()7) 4M§O)M§2)M513) =+ M:(ao)/ig;/i:(ﬂ)

PR+ 2l 2 o 4 s

— 30 o7 H30 — Ma0 Hos H34 + H3g o3 Hos T Mot a3 Ho3
— 58 by sy — 2#%’#&?#55) G(M(2)) &+ 3y sy Y

—3uy) b Sy + 3(psy)) 2y — 3(usy)? 56) + 9 1) 1) 4+ 2080 1) 1)
— gl s 1S5+ Opasy s e — 20157 g sy — 1 g o)
sy ))uis A b iy — 2055 1Sy s + 3ty Y

2 1 2 1 2
1156 (/)A%o )(2)+ u§2)u((l))u§4zl) ug{g( zg(oz ; 3(#%(3)) g(()il) o 3u§2)€t§2)ﬁ§ )(2)
+6( 4 ) )(21/)14? )_ 6(/{1)2 )(i)/i3(4 )+ N12(/11)03(N)70(2‘)|‘ 2#1(2 )/io(glsu(s(l )_ 5#12 o3 K52
+519 fo3 fas T Hos He1 Hos — 2003 Ms2 M1z T Ho3 fas o

1) (2) (2 2 1 1 1
— b 152 183 + 263 1 D — w1 + ()P — ()2
weight=8
structure: 0,2,0,0,0,1
Generating graph:

N =
W =
W =
w

11
1 V2 2 2
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1 2 1 (2 1) (2) (2 1 2
Zsy = Mgo)ﬂ(j));/i(égl) 2M¢(51),U§1)Méél) 2)4Mé‘1)/f§)2)ﬂi)3) ?;)Mé;ﬂ%)o)ﬂ(égg )
+8Hé2 Hi1 Hg3 + 6#&2 H(()2 H( Apigg Hgo 13 Hz(m a0 Hgta

2 2 2 2
— 12l 157 )+ 2l 5y s — Al )u() ko 1162 1157

2 2 1 2
675 s 1+ A1k ) 155 + 8y s sy — Sy s s

1) (2) (2 2) (2 1) (1) (2 1 (1) (2
‘1“#:(34)#(()2)#510) + 4#31)11(()2)#513) - Hgo)ﬂ(:«;)ﬂ(()z;) + N(zo)ﬂz(lo)/l(()?)

1 1 1 2 1 2 2
Ayt s 1k — Atk sy ke — A s 1Sy — 618y ) 153

)
1) (2 1) (2 1) (2) (2 2) (2
6#20)H§5)#(22) + 6#20),“( )N(25) 2N(25)H51)/~L£10) + 12#&2),“51)#513)

2 1
Ayl 15 15y’ — Aptse 3 183 — 6 16 153 — i) iy )

D 1) (2 N o1y (2 2 D 1) (2
‘1“#(20)#(()4)#5:3) + 2/~L(11)Mg )#(04) 8#11)#43),“53) 2U§I)FL£10)M§6)

1 1 1 1 2 2
120057 i 15y + 8pa5) iy s+ S ) 1G] -+ Ay s

— 8y g ) — 12005 psg ) — By i sy + 20057 i e

80y sy )+ Ay ) sy — 20050 i 1) — uy

At 153 ) — 6yt 1 153 + g ) sy + 411Gy s 1)
g1t sy 1) — 16 o 155 — 16 s 1) + G 1 )

2 1 2 2 1 2
+2M(()4)M§1)Mé‘1) 4#82),“53)#&2) M(()4),U82)M(70) +Mg2)ﬂ(()4)/ié1)

weight=8
structure: 1,0,1,0,0,1
Generating graph:

N
o
O —
O —
O
O
S
W =
W =
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1 2 1 2 2 2 2 1 2
Zss = ko usd pgg — 208 i sy — Apy sy 13 + 13 S )

81k T 15 + 61183 1o s — A i 15 — i 1 gy
— 120l 157 )+ 2k i i) — Al g 1) — i s
A i 16 + 67153 ) s — Sy i sy + Sy i gy
s e 15 + psd 1y i) — ke e 15 — 6128y s 1

1 2 1 1 1
ko e 167+ Ay s ) + 120080 i 15y — A iy )

2 2 1 2 1 2
4u§{,)u§g)u§1) 6u§10)u§2)u§4) 6u§2)u§1)u§g) + 6u1§o) u2§2) /{}5)
— 2015 3 )+ Al 3 ) — A 157 — 15 ) )

1 1 1 2
11k 04 153+ 4y s gy + 2087 S pse — 8ty ply it

1 1 2 1 2 1 1 2
—2p5 e 15— 8ME1))NE2))M(()+4M§3M§,4)M( + 8y11y sy g5y

2 1 2 2
+Mg6)/igo)lh(10) + 12p37 poy fy3 12#%1),“&2)#&4) 8#53#%3)#&2)

1 1 (1) (2
+8N11)#13)Hz(13)+2N(11)N(04)Hé‘1) 2#51)N(04)Hé2) #(()4)Hé1)ﬂ(02)

20 16y 17 — a5 ) — o i 15 + i e 1

1 2 1 2
gt 5y 153 — A1l sy 1) — 6116 1 1S3 + 616 i )

)
1 2 2 1) (1) (2
+4N82)N13)H((31 4,“82 N13)Né2) NE)Q)HEM)N(?O) + :U’g)Z)NEM):U’((Sl)

weight=8
structure: 1,0,1,0,0,1
Generating graph:

—_
—_

(NG
O
O
§<
W =
W =

36



Zss = iy nog g — pe) 1Y pts) — A e i3 + Ak it oty
68 ) 1y — s 10 15— pe s 1) — Gl sy )
ke 42 pise + o i i) — Al e ) + Ay s Gy
A 15 5y — Apisy i) 15 + Al iy ) — Apsy i
15 165 150 + 10 5o s — ke 10 15 — 6415y i )
D — 0D ¥ 40D 4 60,0
g1l sy 15 + 61150 155 15 — Gp1se i) sy — Bpisg 1 ps
61y ) s — g 15 1) — pise 15 ) + 618y i )
Ayl 153 15— Apise i 1) + s 63 sy — s 163 1Sy
150 1 155+ Aps b ) + i g ) — 5 ) s
1150 p 1y — 4u(l kY — Ayl 1t — iy i 5

— 57 b )+ A0 s ) — gy ) ) + 64087 i i)
D0 44,0000 6,080 ) 40,00,
68 b 1y — 4y e 1) — 6u§11)u( 2 s — 6411y i e
Ay i gy — Akt 1) — A5 3 gy + s s
) s ) + 4 i s — D 6 g+ Y G
— iy s sy — ) i k) — a6 ) — g 1)
i i 157+ Apg s 3 — Gpt i s + a5
At 1) ) — gt i sy — ) 1) — ) ) 1o
656 e s+ b T sy — Ape 155 )+ e i )
weight=8
structure: 1,0,1,0,0,1
Generating graph:
11111 1V11
V2 2222 V3 33
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1 (2 (2 1 (2 (2 1) (2
Zsr = N;O)Héz)ﬂém) - 2#%1),“51)#84) - 3#61)%2),“53) + Héz)ﬂ(zo)ﬂézx)

2 2 2 2
+ 6#&2#9#55 =+ 3#%2)#83)#%) 3M14(13)M2§0)M2§3) - Mlz(lo)/éo)/é«a)
_6%43)%1)#222) + 21‘1510)1151)!1225) Hiﬁ)ﬂé;ﬂ% - Nio)lﬂéz) :(34)2
s i e+ B ko) s + Buy s pe) — 2y s i)

2018 sy’ — Gpy) i )+ i Sl e+ B )
g 150 155 — 50 g 15 — Buabs s ) — b iy

150 o oy — 350 1151 sy + Bpsg jsy s + Gy s i)
+3ul ) 13 — Bl ) 1) — e Sy ) + 3y )
— e o prsy) — Bpsg a1 — B 153 1) — B s sy
By Sg 1Sy + Busg 153 158 + Bpuse s e — S 3 s

b 5y s+ g ks 15 + o 36 1Y — ke s s
—Bpabe) 153 ) — Bpasg 1 15 + g 1 s + 3ty s )
2 16y p) — 20057 ) 15+ 20080 1t 1) — G s Y
—6p15 i 15y — 2005 o v + 64157 s ks — 6401y s )
3yt i s + 6y s 13 + 6415 Sy i) + 2008 i
— 61111 15 155 + 1k s ks + Oy 1 ) — 205y i iy
6315 psg 185 — 64151 g asy) + 20057 i ) — 20055 i iy

1 2 1 1 2
— 2005 153 ) + 20y i3 s + 6415 s )+ sy g a6y

1 1 1 1 1 2 1 1 2

o o]~ o+

+3p3 1y 1Sy + 2 15 1Sy — 163 1 u§4 N04H( H2o
RO OO

2 2
—3l102 faz Hog T Moo fao Moy — 3#82)M( )Mé2) =+ 3#(()2)M:(),1)Mz(13)

1 1 2 1 2 1 1 2 2
+u82)u§4)u§1) 3uoa)u§1)u§4) uéz)u( )u§5 +3uéz uéz)uél)

1 2 1 2
=3y s 163 + Byt i) 1S5 + By e s — o 153 i)

1) (2) (2 1) (1 1) (1 1)
+ N((JQ)ngs)Mél) - Néz)/i(13)ﬂé2 - 3#82)/1(13)#513) + M(()Q):U'E)ZL)ME’)Q)

weight=8
structure: 1,0,1,0,0,1
Generating graph:

111 111
2 V2 2 2 2 V3 3 3
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weight=9

1) (2 1) (2) (2 1) (2 1) (2
Hgo)ﬂ(n),u((m) + Nél),ugo)ﬂé(a) - N((so)ﬂ(zo),u((w + 6#((31)N(11)H§5)

1 2 2 2 1 2
+uéo)u§1);t§6)2 6uéz)u1( )/éﬁs) +6u§1)u§10)u§26) 15u§2)u§1)u(2) ,
—6y15 7 155 + 158 s 18 — 158 s s + 2005 153 sy

1 2 1 2 1 2 2
L5 15 ) — 20015 b s + 201055 ps) iy — 158 sy )

—20u§3)u§21)u513) + 15y ) 15y — 15 g 1)+ 61 sy o6y
15 Y 1) — s e + a7 + 64155 a6y i)
615 sy 115 — 15#53#&2#&? + 15715 i 155 + 2005w 1§
— 2083 iy 1Sy — 615 e 1Sy + 6155 e Sy — 158 e )
15087 s i) — ik T g — 6pa5 Y sy + 6405y i psy
—6315) 3 1S — sy b ) + i e 1+ e k) e
6160 16 33, — 16t e + 1540 163 ) + 6l sy e
—~ 2016 1) 1) — Vg ) ) + 15y il ) + 20165 i i)
i 150 160 — b 1o, psy) — Ot s 1Sy — 156y i 15y

1) (2 1 1 1
+M86),U§1)M(70) + M(()2),U§6)Méo) =+ 6#(()2),U§5)Mé1) M(()2),U86)N(70)

structure: 1,0,0,0,1,1
Generating graph:

N
b
rO
rO
b
O
O —
O —
W
w
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1) (2) (2 1) (2) (2 1 (1) (2 1 (1) (2
Zsg = Néo),uéo)#é?) ;Néo)ﬂgll)ﬂ(wl) +FL§30):U’56)€L82)2_ Néo),u(()?)ﬁ‘in) .
6153 i 15— 6u§,1)u§5)pé62) r 6u§,1)u§1)u§15) +26u§1)u§6)ﬂ( l ,
154l b s + 15485 g sy, — 1588 1Sy 1y — 15085 Y il

1 1 1 2 2
—~20u53 ) + 208 s sy — 200185 i) 15+ 20058 157 )

2 2 1 2 2
Mgo)/ilt(ao)/il((w) + Gy 153w + 15u§4)u(2)u822) 215u§ )uia)u(; ;
—15u§4)u33)u§1 + 20uzo)u33)u§4 + 15#24);150)#33) — 15 uéﬁuig)

2 2 2 2
—15u§4)u( Vhsy) + Gpg 153 ) — b g 16+ 4y g pe

1 2 1 1 1 2 1 1
61155 g iy + 4153 gty — G sy e + 64158 uy i

1 2 2 1 1 1 2
6515 5 155+ 15pan iy 1S5+ 158 s 1) — 20087 15

1) (1 1) (2
20#51)%(34)112533 6#15)112§0)FL2§>2) + 15#5 N24)éué2 ‘1‘115#211)#2&5)#512)
‘1‘6!1155 Mlgl)/iél) - 6#11)11155)/121) - 6#1%)/116)#&1) ‘tﬂgl)/iég)ﬂgo)
Yl 1)+ e 150 1y — s e e — e e 1)

1) (2 1) (1 1) (2
‘1‘6#(()2 N((al)ﬂ(w) 15#(()2)Né2)ﬂg4 + 20#02)N43)Ng3 15#02),“5«;4)#512)

1) (2 1 (1 1 2 1
+M86)M§0)Mé1) +6M82)M§5)Mé1) Mée‘)ﬂgl)/igo) M(()2),U§6)Méo)

weight=9

structure: 1,0,0,0,1,1

Generating graph:

—_
[\

N
)
W =
W =
W =
W =
W =
W =
=
W N

40



1 2 1 2 1 2
Zoo = —pbonanby + 3 Sy b + ) (153)? — 383 s iy

2 1 2 2 1 2
—18ug) 1 13 + ps o )uéﬁ ko o 167 + 16u§3)u§1)u§3)

3k sy ik + pso s 7 + 18115 (115 — Byl sy 15y
=3yl o v+ plo 155 s+ Bl 115 b — ke i s
—5p185) i 155 + s o i — psy ks s — 30ps s )
— 1208 5 s+ py s iy — Ay 2k + 120080 i
—6p18) p13e ) + 184157 1 153 4u§11)u§3)uf§) + Ay pig 15y

— 1648y 85 157 — ) i 1)+ By ) )+ 3y s

+Opuls s ) — Gpig i s — 1205 il ) + 120185 ()2

+ 18#22)%1),“5,4 + 18#22),“&1)/1(222) 18#22)11&22)#51? 12#?2)#%)/1;21)
—18(p1by) )2y 4 Gpby 13 1y + 3pSy e ) + 30py gl
Oyl iy 15 — 3p15 e s + 120055 g 153 — Tk i 1y

Sy e ) — 1808 iy 1) — 1208 1Y 1) + 1208 ) Y

+12u§§)u§22)u§2) Bpaky pse ) — Aps ks gy’ — 12015248y

TS S ) + 1) e ) — ApS) Y )+ 6 Sy

1 2 1 1 2 1 2
i (1150 )2 — ot i 155 — Apsd ks sy’ + B 1S3 sy

1 1 (2) (2 1) (2) (2 1 2
by 150 1se) — 36y sy ) + 1y 3 e — (:u(()4)) 15y

weight=9

structure: 0,0,2,0,0,1

Generating graph:

S

pO
O
O
O
N =
W
W
W
w
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1 2 1 2 1 2 1 2 2
Zor = —ugo)u(lg)ués)) + 2#&31#(21)2#85 + 5#&31#(12)2#54) . uéﬁuélo)uéﬁ ,
—Mélo)uéo)m(w) 10u1§,2)u2( )u§4) + Q/ﬁéo)/égl)ﬂgtﬁ) - 10#@3/252)/253)
— i 2 1155 + Byl s i)+ Sl e e + 2008 sy )

2 1 2 2 1 2
10uil)u§1)u§5) + 10ui3)u§2)u§2) + 5#53#52)#@4) 10u§4)u§o)u§3)

— 105 s s, — 2005 ub ) + 200150 i sy — Sy iy
— 108 153 183+ 15 i e + i i g7 — S i i)
—5u§11)u( Vi + 10p18s) i) s + 10u§§)u§?u§4’ + 10p28y s 153
10050 1S5 152 + 1088 150 D — 2008 1Y ) — 10087 Sy i)
— 10 p1sg) )+ p15g) 33 s + 10pa85) 3 Sy + Bpasy i iy
5 3 1 — st k) — s e ) — 2085 ! )
10033 18y ) — 203 e i) — 20053 i ) + 104153 i sy
=515 o sy — 5 s s + 20005 i s — 205 pg i)
2415 57 15 + 108 sy 1) — 1008 e ) + 2005 i)

—5pax 133 ) + 203 15 ) — 1008 ) ) + 203 s
116 130 16 — Bt e 1y + 10l ) ) + s g )

1 1 2 2 2
—1OM(()3)M513)M§2) 5#83)M511)M:(34) + M((W)M:(so)ﬂéo) + M(()5)M:(30)Né2)

1 2 2 2 2
5t ki 157+ 10pg g 1) — 2pe) ) 16y — s sl

1) (1), (2 1) (2) (2 1) (2 1) (1), (2
_10H63)/~L(23)Mé2) + /4085)1152)#(70) + 5#03)1154)#%1) H(()s)/l((m),ugo)

weight=9

structure: 0,1,0,1,0,1

Generating graph:

—_

< <
(]
N —
N —
N =
O —
[N
W
W =
w
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1) (@) (@ 1) (2 1) (1) (@2 1) (2
Zoy = ko sy gy — 2080 15 e — pise s by + S s sy

2 1 2 1
2k e 15y — s 17 sy’ — Spy e e + Sl s gy

+10u41)u21)u§5 10u4l)u25)u§2 5#511)#(?;15,4 +5M4(111)M(116)M§21)

2 2 1 1 2
— s o e+ S iy gy — 104yl ) + 10p153) ) e

— 1050 15 s+ 20u§?u§?u§2’ 205 s s+ 10p0 153 s
— 10t p15g) )+ 10pg) 153 ) — Syt i) ) + i g sy
+2 156 ey, + 10418 g ) — b s ) — 10y )uifu@

—~ 20 i i)+ Spaby e 157 — 1008 15 S + 2005 13 i)
M 1@ 0.0 1 @ o0 @) @) o0 1) @) ()

+10p93 f34 f1o1 — 10p9y piag o3 + 20#23 oy pag — 20451 fog fas

2 ) (2
+1OLL121)M225)112§32 110M zl’,)ﬂ Tk ‘1“110#1 )H; sy — ) 5N121)H2§6)N511)
— 2 1 sy + sy i 1) — St g s+ 2085 g s

2 1 2 2 1 2
— 53 ko) ) + 10453 b ) — 1008 ) a3 + By ) )
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